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QUESTION 1

Two Standard Edition N8500 nodes created two file systems, namely fs01 and fs02 and the file systems are online. If
the two file systems are set, then which of the following will appear? 

A. The file system is automatically offline and can not be pulled manually 

B. The file system is automatically offline, but it is also manually pulled 

C. file system will not automatically offline, but if you manually offline it and then try it offline 

D. The file system does not automatically offline, but it will succeed if you manually try to bring it offline again 

Correct Answer: B 

 

QUESTION 2

After completing the OceanStor VIS6600T application networking, you first need to set up an arbitration disk to ensure
normal business operation even after a split brain occurs. Which of the following errors about the configuration of the
quorum disk is wrong? 

A. In the absence of a third-party arbitration site, the quorum disk selects 3 LUNs of the same RAID group in the same
array with a size of 1GB 

B. Storage arrays include Huawei and IBM arrays. The arbitration disks are preferably configured on Huawei arrays 

C. In the dual live scenario, when there is a third-party site arbitration array, the arbitration disks are placed on the third-
party site arbitration array and an independent UPS power supply is deployed 

D. inspection found that there is a fault condition disk in the arbitration disk, you need to promptly repair or replace the
fault arbitration disk 

Correct Answer: A 

 

QUESTION 3

Which of the following is correct about the InfoStamper feature of an OceanStor 9000 storage system: (multiple choice) 

A. Snapshot does not support nested, that is, the snapshot has been created directory, the parent directory and
subdirectories can no longer create a snapshot 

B. The root directory of the snapshot (that is, the directory used to create the snapshot) does not support deletion 

C. Hard links are protected by snapshots, soft links are not protected by snapshots 

D. For a snapshot with an expiration time set, the system automatically deletes the snapshot but does not back up the
storage space occupied by the snapshot data after the snapshot expires 

Correct Answer: CD 

 



QUESTION 4

In an OceanStor V3 storage system, a disk domain has multiple types of disks. If one SAS disk is added to the disk
domain, all disks of the disk domain will participate in data balancing. 

A. TRUE 

B. FALSE 

Correct Answer: B 

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1000138856/c140d81c/planning-diskdomains 

 

QUESTION 5

An enterprise buys a set of Huawei OceanStor 9000 storage systems. Some of the enterprise\\'s basic software is
stored in a directory, and users can access enjoy/it. In order to facilitate the operation, users should not enter the
account password, and the basic software directory is set to NFS enjoy, you should check the share of the "guest
enabled" option. 

A. True 

B. False 

Correct Answer: B 

NFS does not have guest users this option. 

 

QUESTION 6

Which of the following are false about OceanStor V3 LUN copy and clone: (multiple choice) 

A. LUN copies and clones have the data of the original volume at the moment when the original data is initiated (or
started) for the backup of the original data 

B. LUN copies and clones need to stop the host business during execution 

C. LUN copies and clones can both be executed in the same display 

D. Both LUN copies and clones can be incrementally synchronized 

Correct Answer: BD 

 

QUESTION 7

Which of the following statements are true regarding HUAWEI OceanStor 18000 Engine, SVP, Disk Enclosure, and PCI-
e Switch Interconnections? 

A. SVP needs to be connected to multiple engines through two PCIe switches, and each engine controller needs to be
connected to a PCIe switch to ensure that link redundancy and to improve reliability. 



B. When the control plane is connected to a network, when the engine and the PCI-e switch are interconnected, the port
0, port A3 and PCIe port can be interconnected. 

C. Huawei slot 0 and slot 5 of the OceanStor 18000 engine enclosure can be used to install SAS interface modules and
interconnect disk enclosures. 

Correct Answer: B 

 

QUESTION 8

Which of the following is correct regarding FTP passive transmission mode: 

A. The server initiates the establishment of a data connection request 

B. The FTP client uses the pasv command to tell the FTP server its own IP and port number 

C. FTP server uses the pasv command to tell the FTP client\\'s own IP and port number 

D. The target port number that initiated the data connection request may be 29999 

Correct Answer: D 

 

QUESTION 9

The Redhat Linux Enterprise 6 cp command is used to complete the operating system data migration. What steps are
needed to verify the transfer? (Multiple choice.) 

A. Check if the size of the migrated file is the same as the original data. 

B. Check if the number of documents corresponds to the original data 

C. Check if each file with read and write permissions corresponds to the original data 

D. Whether the time for reviewing the case file corresponds to the original data. 

Correct Answer: ABC 

 

QUESTION 10

The figure shows an N8500 (V200R001) NAS engine chassis. The two NAS engine nodes in the chassis 

form a two-node N8500 NAS cluster. Which description of the front-end and back-end network planning of 

the cluster is correct. 

(Multiple choice.) 

A. On the slots of the same position on both nodes, such as A3 and B3, you must insert the same type of interface
card. 

B. A5 and B5, A6 and B6 can be chosen to be networked, the key is how to make the network connections. 



C. If the back end of the engine cluster is to be directly connected to four control enclosures, add one FC HBA card in
slots A2 and B2 for the controller enclosure of direct connection. 

D. A2, A3, A4 and B2, B3, B4 can be plugged into a 1Gb iSCSI or 8Gb FC interface module to connect with the
business network. 

Correct Answer: AC 

 

QUESTION 11

In Huawei OceanStor 9000, the CA that processes write requests divides data into strips based on the protection level
and writes data strips into non-volatile dual in-line memory modules (NVDIMMs) if the corresponding nodes. Then these
nodes calculate and write parity strips into their NVDIMMs. After all these nodes have successfully written parity strips,
the write operation is successful. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 12

OceanStor 18000 hot backup strategy is set to high, all using 1TB hard drive when the hard disk domain, respectively,
eight hard drives, 80 hard drives, 180 Hard disk, 280 hard disk, the system will be assigned how much hot spare space,
in Terabytes? 

A. 1,7,8,9 

B. 1,7,15,24 

C. 1,4,8,9 

D. 1,5,7,9 

Correct Answer: D 
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